Name Date
Mr. Schlansky Geometry 3

Candy Corn Problems
1. In the diagram of AADC below, EB | DC, AE=9 ED =5, and AB=9.2.

What is the length of AC, to the nearest tenth?
1) 5.1
2) 5.2
3) 143
4) 144

C

2. In the diagram of MABT points D and E are on AF and CB, respectively, such that
AC || DE .
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If AD =324 DE =12 and D& = 4, what is the length of AC?
1) 8

2) 12

3) 16

4) 72

3. Given AMRO shown below, with trapezoid PTRO, MR =9, MF =2, and PO =4,
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What is the length of TR?
1) 4.5 3) 3
2) 5 4) 6
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4. To find the distance across a pond from point B to point C, a surveyor drew the
diagram below. The measurements he made are indicated on his diagram.

Use the surveyor's information to determine and state the distance from point B to point
C, to the nearest yard.
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5. In the diagram below, triangle ACD has points B and E on sides AT and AD,
respectively, such that BZ || O 4B =1, BX'= 3.5 and 4D = 13.
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What is the length of AE, to the nearest tenth?

6. In the diagram of /A5 shown below, DR I BC.
If AE =6, DE =10, and 4C =9, find BC
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7. In the diagram of AA4BC below, DE is parallel to 4, CD = 15, AD'= 9, and AB = 40.
Find the length of 22
Cc

B
8. In the diagram below of A FPCR, ST is drawn parallel to PR, P5=2, 50 =15 and TR=75

What is the length of OR?
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9. In the diagram of /574 below, EP is drawn such that £SEP = Z5RA.

If 5 =10, 57 = §, and 4 = 6, what is the length of K_R, to the nearest tenth?
1) 4.8 3) 8.0 i
2) 75 4) 133

R
10. In triangle ABC below, D is a point on ABand Eisa point on A, such that D& I BC.
A

If AD = 12, DB = 8, and EC = 10, what is the length of AC?
1) 15 3) 24
2) 22 4) 25

11. In AABCZ, point D is on A_B, and point £ is on BC such that DF I AC 1f DB = 2,04 ="
and JF = 3, what is the length of 4Z?

12. In triangle ABC, M is a point on AC andNisa point on CB such that MN | AB 1If
AC = 8, AB = 12, and CM = 6. Find the length of MN
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